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Question Number : 1 Question Id : 4387198001 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0
Wheat rust 1s caused by

fPehsh Ho%sdh Sbed Seorftdinss
Options :

Albugo

o Pl
k]
Sty

Puccinia

RSy

e

Penicillium

438719166
1
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40
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Yes

2/142



7/12/22, 3:54 PM

Plasmodium

L e ate

Question Number : 2 Question Id : 4387198002 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0
Assertion (A) : Agaris extracted from Gelidinm and Gracilaria

Reason (R) : Agaris used to grow microbes and preparation of ice creams aind
jellies

Reedo (A): edpid Bolcho Htals [rR88cir Mol wifiddod

sdmo (R): edpidd &g ddol DosooRs, pHiiSw, 2bo $ards’s shhTG

o
Options :
Both A and R are not correct

A 58w Res 8ot #8590 o5
1. ®

Both A and R are correct but R 1s correct explanation for A

A Secsn R Sodr #3590 =0 R @@ A 8 835 958
2.¢

A 1s correct but R 1s wrong

A £858 =0 R Sg8e s
3. %
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A 1s wrong but R 15 correct

A £o8s = == R $o8ss
4. %

Question Number : 3 Question Id : 4387198003 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the characteristics of Rhodophyceae

a.Female sex organ 1s a carpogonium
b.Male gamete is called spermatium
c.Male gametes are non flagellate
d.The plants are called as kelps

Identify the correct answer

a. & Soh¥ 3Ty AU wolrd:

L=

C. HA Sodrit deren Soogf 8o

d. & AnHoih S w wolrl
HOThE SEirprRtnid Ko
Options :

a b.c
1.+
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a.c.d
2. %

b.c.d

3. %

a.b.d

4. %

Question Number : 4 Question Id : 4387198004 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the incorrect statement regarding Archaebacteria

=8)eridch® & Honolod HETH TEED Aok,
Options :

They are halophils and thermoacidophiles

20 & pder Do §OeRE R

aAll

1. ®

The cellwall containspeptidoglycan

D& Susddo DLEDTEH S9A aowob
2. ¢ N

The cell membrane containsbranched chain lipids

3 % §méﬁ3ﬁo@£ Fgroiosd 858 %:}a:.@moé:co:
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They are responsible for the production of Methane from the dung of animals

. z0d DNYY Sorore Dok P8 aHHss a0 sk,
4. . #

Question Number : 5 Question Id : 4387198005 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The following plant has lateral branches of one internodal length

[Bob FnfHed® 2.8 Sed oo 50A3 2-‘«"%@3; Botnoh

-]

Options :
Nerimm

SHadbo

Oxalis

ez 85
2. % w9

Eichhornia

ma‘aﬁ;_cﬁ;“
3. ¢ i

Dioscorea
BB e

4. %
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Question Number : 6 Question Id : 4387198006 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Plant in which floral buds store food material
BFSSTpeR Dugiah HYE e So Y

Options :

Asparagus

whoeii

Agave

e

o
2.¢

Diascorea

EriFp i

Onion

.
DD

Question Number : 7 Question Id : 4387198007 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Identify the inflorescence in which the flowers arise from same point of the peduncle and

covered by a whorl of Bracts ?

B wr
n.u.ﬂu.'lléum'ﬁ-

Dol Y ITEH Dyodo Tagriod at PHo wod shnoddds Slaon Dode el

B

L

oot ?

i

Sochos® Sl dokod & Y TN K

& ol 2

Options :
Spike

L% Lok

Head inflorescence

et P ET0

ok kS

Corymb

SR

Umbel

Question Number : 8 Question Id : 4387198008 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

1s used to store pollen in pollen bank

PEn& erpofod GIMERN FESGmEs Tdid

Options :
8/142
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2. ®

Question Number : 9 Question Id : 4387198009 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Pollen grains are well preserved as fossils of

Sodium alginate

o

1

Fhoto sl

10% sugar solution

g

B5 8 T&Fes
0=

Liqud Hydrogen

e

r
on

. st
(5%

Liquid Nitrogen

o

[l

w2

it
Lod
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Pectin

=
T

e

b K]

Chitin

on

&

[

Sporopollenin

O FIUN

4.4 °

Question Number : 10 Question Id : 4387198010 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

The ploidy of zygote. endosperm. egg cell. nucellus respectively are

SocsuEdao, sohds s, Sludoin Hicn soFod: fnrwred FIrdine Sophd
S8 Eood
Options :

in.n. 2n, 2n
1. ®

2n. 3n.n. 2n
2.

n. 2n, 3n, 2n,
3. %

n 2n 2nwm
4. ®
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Question Number : 11 Question Id : 4387198011 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
Trimerous and tricyclic flowers are present in

Bericing Sodks Bdodh Harer BE¢ et
Options :
Allium

sedbo

Asparagus

o =
@;ﬂﬁcrﬁ

Smilax

Eﬁ”%
3.9

Male flowers of Smilax

£
£

:@éﬁ“%x gosl helen

B L]

Question Number : 12 Question Id : 4387198012 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Ribosome is chemically equivalent to

B ES SirahOsom HErEdo
Options :
DNA virus

DNA 565

1. %
RNA virus
RNA 3%
2. %
All animal virus
win sod 0T w
3. 23 [ =N
Viriod
s e vhula)
4.%

Question Number : 13 Question Id : 4387198013 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Formula of Glycine
GRS 8o,

Options :
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e C; H, 0, N

Cis H; Os N

; x C1eHn O

C2Hs O2 N
4. ¢

Question Number : 14 Question Id : 4387198014 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0
Statement 1 : Destination of the metabolites in a cell may change with the help of
Cris-Cross junctions.
Statement 2 ; Metabolite formed in one metabolic pathway continues same

metabolism only.

TS0 1: 8 Swod’D £53d%e tisgirie (35 - (PR SmE0 ((=ofS ) Hod drdy Dok,
50 2 o8 £53ar Dgred® LBAS £5DTGO @8 £58chs Srigo FSrhoh.
Options :

Both statements are true

Sotl P57 Heio
1. # p

Both statements are false

Coth T°ERer @il
2. %
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Statement 1 false. statement 2 true

39550 1 @&é&o ;‘Pééo 2 &é@o

Statement 1 true. statement 2 false

Fééo 1 :«fﬁéo. Eébo 2 w:és-‘:%o
4.

Question Number : 15 Question Id : 4387198015 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If a meiocyte consists 16 chromosomes then number of chromosomes and number of
chromatids in each cell after Meiosis II will be respectively

e.8 S.‘oﬁat‘:‘g&'ffs 16 S 5rtSe ﬂfé":::{ﬁs Totis Fohste dgfad Sond [(B8%m08° ol [FardiSe
Soxy wbakn [jEE-‘-f.:D&EE RO ST
Options :

16 and 32

16 #o8ain 32
1.

16 and 16

16 5o8ais 16
2. %
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8 and 16

8 2ubain 16
3. %

8 and 8
8 %8d%w 8

4. ¢

Question Number : 16 Question Id : 4387198016 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Well developed medulla is present in

wPs Joba Sy aotldl

Options :

Dicot stem

20

Borie

o

2 TRoio
Monocot Root

2.¢

Dicot root

Brie Des B
3. %
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Monocot stem
e
88 fe: SEol0

4. %

Question Number : 17 Question Id : 4387198017 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In sieve tubes source to sink pressure gradient is maintained by

Options :

Phloem parenchyma

. s dpdseereo
1. =

Sieve cells

oren) Begven

Sieve tubes only

o TPEtes S5rd

Companion cells

PR =T
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Question Number : 18 Question Id : 4387198018 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arrange the following based on mcreasing order of vascular bundles in them
[.Dicot root II. Monocot root

III. Dicot stem IV. Monocot stem

TiTHomre BhikED) Eos® BchTEY wibdytn
I &sede 3% I1. 58880 3%
II1. &éﬁﬁéﬁ oo IV. S8s¢8e oo

Options :

LIV, I
1.

LIL I IV
2.¥

- IV, I 11, 1

IV, LI
4. %

Question Number : 19 Question Id : 4387198019 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Pioneers of xerarch and hydrarch succession respectively

ze|8iso 2iaio PRSI SV TeYoard rSogiD SHes BEH

L
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Options :

2. ¢

3. %

Phytoplanktons. Lichens

HE Disrew, T3

Lichens. Phytoplankton

Diatoms. Lichens

tairtoe, S8R

Lichens. Sedges

Z80e, DEw

Question Number : 20 Question Id : 4387198020 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Xylem development is poor in

Options :

1. %

Xerophytes

Tt &Jﬁg’@
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Halophytes

f.-:*ég; 5&5}}%@&:}

Hydrophyvtes

TRV ég;.n

3. ¢

Mesophytes

g e (SErGeres)

Question Number : 21 Question Id : 4387198021 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The movement of water through the cell wall 1s known as

60 SIS0 T T e BOTR) DB ot

Options :
Tonoplast

SEEE

Apoplast
OTFD
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Plasmolysis

> 955

3. %

Symplast

f&oé“i‘.‘r
4.% =

Question Number : 22 Question Id : 4387198022 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

When the cell becomes fully turgid then will be zero
SE3A D\S B3S° &) D Dend 20T Gotod
Options :

Suction pressure

L TATANEY OG0

Osmotic pressure

ST D6 HEDdo
2. %

Turgor pressure

Eﬁbeﬁ:ﬁéo
3. % ;
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Wall pressure

&3S Do
4. %

Question Number : 23 Question Id : 4387198023 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the first electron acceptor from an excited chlorophyll molecule of
photosystem-II

T 0D0-II ABE), EBRIRIET LS R Bt G JVFTD
B rbgmﬁo&,

Options :

Cytochrome

2858’ S0

Ferredoxin

Quinone

%55' 5

Plastocyanin

FIR0IID

21142
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Question Number : 24 Question Id : 4387198024 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Respiratory quotient (RQ) value is less than one in

82,8088 %2085 (RQ) Dewad 5" 2,6¢) S0l BEY) D

Options :

Organic acids

ﬁ?bé R2T"RD

2.
Carbohydrates

SicpYe ol

Glucose

ArEs

Question Number : 25 Question Id : 4387198025 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The term Enzyme was proposed by

DoBI 9D DT VAT BT

Options :
W F Khune

L W F a0

E Fisher

D Koshland

D géé“n{i

E Buchner

E m;ié

Question Number : 26 Question Id : 4387198026 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Enzymes are mainly classified into groups

DoFVLR DT DI R 50880tegTon
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Options :

5
1. ®

2.¥

Question Number : 27 Question Id : 4387198027 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify which of the following is a day neutral plant

ol TS AHTS BV 200E), A DBotdL.

Options :
Glycine max

{:‘;335 &33"’5‘:1
L%

Spinacea oleracea
T R0S W TT 0

2. %
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Lycopersicon esculentum

TEDBTD DA, Totado
3.9

Chrysanthemumn

B oA

Question Number : 28 Question Id : 4387198028 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who isthe father of Microbiology ?
E woirosd (WS'\%&;ﬁ?‘i&a} HTEEATUC) DT

Options :
Aristotle

@6@“&595

Linnaeus

E}:{lcmi:

Leenwenhoek

Da5:5°s
3. ¢

25/142



7/12/22, 3:54 PM
Whittaker

De3es
4o

Question Number : 29 Question Id : 4387198029 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Antibiotics are produced by

ojroe%mcm“éhég (T &3\ dobecsraw

Options :

Virus

265

Bacteria

e Tolowt
2. 2

Protozoans

Fes s o

Cyanobacteria

23 ersbosr

Question Number : 30 Question Id : 4387198030 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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Time : N.A Think Time : N.A Minimum Instruction Time : 0

Checkerboard method for calculation of gametes was proposed by

Ao (e §R0 B586e5°6 238D DT AT

Options :
Morgan

AT
i1

Punnet

FOR N
2.¥ L

Mendel

Voéed

Correns

%Daéb

Question Number : 31 Question Id : 4387198031 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If a single gene influences several characters 1t 1s known as

W8 B VIS VEFTOD DS B TR e208T"E0
Options :

271142
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Ditropy

2.9 °

Monotropy

Fob ST}

Question Number : 32 Question Id : 4387198032 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0
The enzyme helpful in joining the DNA fragments.
EaHEL ool w8BodeD S JoBS.

Options :

Exo-nuclease

1. %
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Nuclease

DNA ligase

AcLSs BnS

3.¢

el

Polymerase

PO CE
4, %

Question Number : 33 Question Id : 4387198033 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

DNA does not contain

Gl

EdbsSw & Ib

Options :
Nitrogen

ey

Sulphur

=
Senb
o

2. ¢
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Phosphate

Question Number : 34 Question Id : 4387198034 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Where can an alien DNA be cloned or made mnto multiple copies?

2 |Frodod® ddah ARl Kol B Sor TRubil) SSnTred $ar Sahsn?

Tt
Options :
Chromosome

Bars'S
1. %

Telomere

) % Aainenb

Centromere

3 % ol nesb
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Origin of Replication

i

b=l op Tnsas

4. v

Sy
!

Question Number : 35 Question Id : 4387198035 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

- : ; 1 {5 :
The following sequence read the same on two strands in 5" — 3 direction and

3'— 5! g called as

[

5 — . GAATTIC — 3
3! — cTTAAG — 5!

& (S0l VLS SADS ada@iﬁﬂaﬁsiﬁ} Bots S6dud 6dw 88 o aotsd. uzr aots TR0

st GAATTC 3!
3! —— CTTAAG oh
Options :

Misiatch sequence

AR ENTS)
1.

Palindromic nucleotide sequence

Foo| s HicrBE BT
2.
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3. %

4, %

Zig zag Sequence

s‘l

3
o) o

i

=0 &0

il

Recognition sequence

80T H8Hw

Question Number : 36 Question Id : 4387198036 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Enzymes that join foreign DNA to plasmids to form recombinant DNA’s are

Gdhnuen Dsdod@reddoes shib o

Options :

1. %

DNA ases

AcHSRe

Primases

e =
|| Dot Dl 0D
-

Exonucleases

- g

S0din PR Adbdued w83l JoBsnw
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DNA Ligases

4 @ BHS5 Bhde

Question Number : 37 Question Id : 4387198037 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Flavr Savr” Variety of Transgenic — Suitable for Storage and Transport is a

‘50 Wb ey wiHNes B8 - HTe Dyy Hde Srer TS DaSt

)

Options :
Brinjal

L% ool

Potato

BOTPTREo0s

Tomato

domri

Onion
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Question Number : 38 Question Id : 4387198038 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The plant material in special nutrient media under sterile conditions in Test tube able
to regenerate from any part 1s called

o

(B85S D558 S8 wrBo SO §BS HEETISS’ DET Bud) R HINES BB FEH

X [ e e
SRGrhoihtn wotrd?

Options :
Tissue

Bozeeo

Organ

eIadns0

Explant

SIS
3.¢

Question Number : 39 Question Id : 4387198039 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Virus free plants are obtamned in ‘Invitro™ through

‘250EY Dprdsnd® 3R 808 SnBsis Sdird dohots 55{5;-:5;&&

Shoots

Ponres
Meristems

3. ¢
Ovules

=S TR by

Question Number : 40 Question Id : 4387198040 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

This is called as Baker's Yeast
= = o B ooy -

250 S5 ol L0 solrd
Options :
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Chaetomium

sf.‘aéf ko
1. *

Candida
) % il elmtens

Saccharomyces cerevisiae

LerEiERs LeDhak
3.¢

Rhizopus

BE*IS
4, &

Zoology

Section Id : 438719167
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 41 Question Id : 4387198041 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The response and behavior of an organism with environment and other organisms of
its biotic community is called

28 2D B TOUT &D) DBVT-V S0B0I BB LHUE BFD PICT Dokl
DB(E DIGH DD00ETE?

Options :

Camouflage

dﬁw@é (S .ﬁgejsc

Homeostasis

A0
2. % 2

Niche specialization
- 258 bz DB LER VoS / IS NNTEAD

Speciation

OOV &G

Question Number : 42 Question Id : 4387198042 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The supportive skeletal structures in epiglottis and pubic symphisis of human being
are the examples of

ARG SEDRT(E DOATW 2VVD VGO ES” SV Snwrve I8 &Irirsn?

Options :
Bone

| % @008

Cartilage

a0y G0eT°R)
2. ¢ 2

Adipose tissue

QETE g0
3.
Areolar tissue
. DOG3Terd Sz
4.

Question Number : 43 Question Id : 4387198043 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the muscles that are ectodermal in origin

& $0& T QPR EID00 o) DO\E SoGTreD DD?

Options :
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Intercostal muscles and phrenic muscles

DG 5 0dE SodTren QB DS SodiTren

Cardiac muscles

TPHE0H SotTTeD

Muscles of Iris and Ciliary body

- Sot) Tr6s 2wbBatw 3V Sir SodTren

Muscles of intestine

€50 SoGT L

Question Number : 44 Question Id : 4387198044 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which products of cell wear and tear get accumulated in lvsosomes with age in the
cell body of neuron?

HORE e TAESH BIreeS” HESD S S{oren

Options :

Lipofuscian granules

TP Beaosden
1.¢ 7 =3 -
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Histamine

EJGEE‘JJE;

Bradykmin

EFC3D

Hemozoin

TAFOND

Question Number : 45 Question Id : 4387198045 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statements is correct in relation to molluscans ?
VT, BRHVL Vowodod) & $o& DF) DY D DOJGD VPIE?

Options :

Internal shell is present in Aplysia and shell is absent in Doris

DVOITS” VoSG $61Go Gotnod Bk EBD & §6yFo Goti
1.

Internal shell 1s present in Doris and absent in Aplysia

. &85 & oB0s $6:Co Gotod SoBOD Dia2yosmes” 8600 &0k
2. 9 -
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Torsion 15 found in Unio

. 0TI & ergS / 208 DDA
3.

Shell of octopus contains eight transverse plates

ugaa AADE e DUt SHAD £6yT°Y) SRS
4. %

Question Number : 46 Question Id : 4387198046 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Digestion 1s both extracellular and intracellular in

Se3 P SBAID SETodR) 20 $05000 Totd D SGed” EIDIOW?

Options :
Cnidaria

L ielalelonty

Platvhelminthes
e B&ccﬁhﬁ:
2.% 7
Nematyhelmmthes

DQPEB?P@&G@:}
3. %
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Mollusca

;&:Ie_}b“&

4. %

Question Number : 47 Question Id : 4387198047 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following leaf like out growths found in cestoda are useful for
anchoring?

PYee Der) APV o) DEVE IS EDHAFAVE S Lrol EPIT] DyEoen

Options :
Hooks

s %”E'Gm

Suckers

BIrETeD
2. %

Bothridia

g5’ Bcodo
3.¢

Acetabulum

&dre0
4. %
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Question Number : 48 Question Id : 4387198048 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is an extinct marine Arthropoda?
& S06 TS DA DD J A8 @gﬁﬁm £D?

Options :
Dalmanites

o) D8R
1. ¢ =

Limulus

Elan5u§a

Scolopendra
PRSI oy

Scutigera

w;&emm

Question Number : 49 Question Id : 4387198049 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Heart in fishes 1s described as

DHV Vol 2 6592 DodIA?

Options :
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Neurogenic and bronchial heart

TG 205 S80I EPeSaNES IXyEaHIL

Myvogenic, bronchial and venous heart

. S0t &, £PoS0e) SVBO3N T 75030
2' i 7 =

Neurogenic and venous heart

T 2] S0B050 DT IPESeHIN

Neurogenic and alternate heart

e 2] 20BOIL DB 05D

Question Number : 50 Question Id : 4387198050 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Assertion (A): Cartilagimous fishes are viviparous

Reason (R): Males of cartilaginous fishes have claspers to facilitate internal
fertilization

TG (A) 1 20yB0erR BHL IBTTT BT

5°6e%0 (R) @ 200 30,R0070 BH0S" 20D0), Bofrmed 8od8 DVASEHRK

S coow.
Options :
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Both A and R are correct and R is the correct explanation of A

A 208030 R Gocd 0D 2080300 R 930508 A S 28R o0

Both A and R are correct but R is not the correct explanation of A

A 208050 R Godd 28D 550 R 222038 A S0 20 D508 57

A 1s true but R 1s wrong

A 2038 529 R 2028 560

A is wrong but R 1s true

A 2038 56 T3 R 2338

Question Number : 51 Question Id : 4387198051 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In Caecilians. vertebrae are

N5Y0HS’, EFCHW D 65708 BodID?

Options :

Procoelous

800

1. ®
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Opisthocoelous

668

Amphicoelous

&2505040
3.¢

Heterocoelous

D008

Question Number : 52 Question Id : 4387198052 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
Which of the following divide during binary fission of Euglena?

e BEEINg dfchod® Dged Tod TAT HEcwEL

Options :

Nucleus. flagellum and stigma

Solgigo, $Pgo Hbdkn FEHLY

Nucleus, kinetosomes and contractile vacuole

Sol|fiso, SR P Hen bk $ostsess
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Nucleus, stigma and chromatophores

So(%0, JBHnY Hoon FHE Y
3, %

Nucleus. kinetosomes and chromatophores
Sol%o, SRt Sen HBak [Py
4. ¢

Question Number : 53 Question Id : 4387198053 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
The transverse binary fission of paramecium 15 also called homothetogenic fission

because

DOLRHDE =6h oth HFrINSR TearpsEs DN oLr. Jotdsm

Options :

The plane of fission 1s at right angles to the longitudinal axis of the body

SngE€eo dr wohd e voaSismos® dotood
1.¢

The plane of fission 1n parallel to the longitudinal axis of the body

S ggeo At wobewsls Harodlomr Gotool
2. 8
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The plane of fission 1s at right angles to the transverse axis of the body

o, oy —t - o
@ujgéﬂ@ o b @%@E“ 28 wonSnod aotuod

The plane of fission is parallel to the transverse axis of the body

DNBdvo B wlheThs Lirodtonr dotued

L]

Question Number : 54 Question Id : 4387198054 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statements are correct in relation to host & parasites ?

1) The host in which parasite undergoes asexual reproduction is secondary host

11) Female Culex mosquito 1s the primary host for wucheraria

111) In primary host parasite undergoes sexual reproduction

1v) Man 1s the primary host for plasmodium

v) The host that lodges the infective stages of a parasite in its body when the main
host 1s not available is called Reservoir host

[T Telowe BT 5% Somobod, Eo&.ﬂﬁéﬁ SO (Bseso W0?

1) & w8gond® SooHEd oo Hds ehHFTHS TI0 6 dchudgon wokd

i) a¥0ec% o é:g&f%ﬁga.a SRk PENE o8Gow

ii) Frgosssgons” Soeidd Bons B8H8 =tnFhd

1V) PRASAhOS SrdRl [FEns ©SEow

1?}@-@50&; EPEER aﬁtst'éxﬁyb T8 SoBunddel slddho é@ﬂoﬂ wSFonuidh edairsgane
Elehilew

Options :
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Only (11). (111) and (1v) are correct, (1) and (v) are wrong

(11). (111) e&afe (1v) $B:58, (1) Seain (V) ek

1. %
Only (1). (111) and (v) are correct. (11) and (1v) are wrong
(1). (1i1) SBeke (V) S-(@d #8856, (ii) Heaw (iv) Ko
2.
Only (1) and (v) are correct but (i1), (111) and (1v) are wrong
(1) So8cio (V) Srgad 9856 =0 (ii). (iii), (iv) Hezs
3. %
Only (11) and (1v) are correct. remaining are Wrong
\ (i) sobaso (1v) S S50, DADSSE WOz

Question Number : 55 Question Id : 4387198055 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Infective stage of Ascaris lumbricoides to man 1s
BrHHES 0 $0AcE wirthwo@Pands PolSsEE
Options :

d . 3
2" stage rhabditiform larva

Cofada ?_@ﬁ@nﬁé GogiSo
1. ¢ =
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1* stage rhabditiform larva

FwiLEE TLd 75 Ao

3" stage larva

3 % surtiss &€ Loglto

4™ stage larva

el &< Bogfo

Question Number : 56 Question Id : 4387198056 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not correct in relation to the history of Malaria?
Bob TBS* NVEATr $6|E H Sowohod HETH NE?

Options :

Malaria means bad air

. HBedir oo BEmO
1. 2

Sir Ronald Ross identified the oocytes of plasmodium in the stomach wall of female
Anopheles mosquito

%6 Fard TR StoThOREn eT¥chge L PRHAde lGud SETIG
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G.B.Grassi described the lifecycle of plasmodium in the female Anopheles mosquito

2.8, o IS Fs® Fadbo 7§ £238Y) Sgord.

Sir Patrick Manson discovered plasmodium in the blood of Malaria patient
%6 285 SmyyS, STeddr Bagses® rthicaho & Mo

4. ¢

Question Number : 57 Question Id : 4387198057 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
Which of the tollowing is not correct in relation to sporogony of Plasmodium ?

Ellaralon Fihacho ﬁnﬁé’ﬁﬁaﬂ{%a Jomobod HETAL La7

Options :

Formation of sporozoites in the oocysts 1s called sporogony

p5et e ronty NELY BEIETET voird:

Ot

Sickle shaped sporozoites are formed

X5 azbo ﬁi,ﬁsaﬂmé% 3)@.&6&&1}

Qocyst with sporozoites 1s called sporocyst
Pferontl) fo 555 2EdeF 4o solrd
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The nucleus of the oocyst first under goes mitotic division
éﬁwn 2 Bol (G580 ot DeudFed alnBiod

4. ¢

Question Number : 58 Question Id : 4387198058 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not correct in relation to addiction and dependence?

2o subdin erristdbe o Hoanchod (3ob 8BS B85 Ha?

Options :
The TDA abuse leads to addiction and dependence.

Srreh, Soth, supfa HSNE@rTo SFETIS, adohd SPERErRs T08ikob

With the repeated use of TDA. the tolerance level of the receptors present in our body
mcreases,

TDA s $6%m d0@rhosto Sy $8808° (riFrmre Sdrdaron 2&ib&od

Dependence leads the patients to implement all social norms.

S Taidatelatulel ) & aub ATty *"“‘*#é}ﬂﬁé éﬂ'“ﬂngeﬁi wesnsd n8s Siol
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Dependence is the tendency of the body to manifest a characteristic and unpleasant
condition. if the regular dose of dimgs or alcohol is abruptly discontinued.

BsoodHt Frerdd® HESoha o wvyts HAGrTY) et Srlddhto Sy ¥88ost 8a%o
= =g ol eprdsduo

Question Number : 59 Question Id : 4387198059 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Synecology’ refers to

Options :

Ecological study of individual species

2.8 88 Fobd £ £oesde wgehdo

Study of ecological communities

dadte Sdrere ehdhso
2.¢ .

Plant ecology

EvEEs el [

g
G
0,

Physiological ecology

o,
|

i

%ﬁﬁqﬁﬁé- T TRk
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Question Number : 60 Question Id : 4387198060 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Match the following related to adaptations i aquatic habitat?

LIST -1 LIST -11
1) Gelatinous cocoon a) Cartilaginous fishes
i1) Salty fluid that drips through b) Salmon
nostrils
111) Trimethyl amine Oxide ¢) African lung fish
) Anadromous migration d) Penguins

A& srrrd” sfrorad Sonobod (8

& T8N =8l

11) Thormwrsre Sod Reost vdnBso 3
iil) (B ogSoSssa C) sDERaBo88TS

d) DoyRes

Options :
_ (=d). i —c). (i - b). v -a)
1.

2.8

(i—c). (i — d). (iii — a). (iv — b)
W

(i—a). (i — d). (i = ). (iv—b)
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(i—a). (ii — b). (iii — d). (iv—¢)

4.%

Question Number : 61 Question Id : 4387198061 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Spirometer 1s useful in
76°%068 & Do edristdked

Options :
Clinical assessment of the pulmonary functions

5088 & HHG Dghuid vod IeHERs

Feu

1.

Clinical assessment of the heart function

2088, & mddio e wolT® IALTRS
i ot 2]

Clinical assessment of the hiver function

5088 & dah ol sodT ST

Clinical assessment of the brain function
D088 &° s o sodT Faherns

4.%

Question Number : 62 Question Id : 4387198062 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following pairs is correct?

1Bob &S 56 wowd wd wk?

Options :

Internal urethral sphincter — smooth muscles

wodb (F8 Hoked - DD Soforen
1. ¢

External urethral sphincter — smooth muscles

Piy (B8 HoRed - b SodTrw

2. %
Internal urethral sphincter — striped muscles
wodb (F2E fosed - THY Soloren

3. %
External urethral sphincter — unstriped muscles
NN @"J‘?T:Jé Hok6d - wBhd Soloow

4. %

Question Number : 63 Question Id : 4387198063 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The organic molecule that protects body proteins from the damaging effect of Urea 1s
Bob &S & S8)8 E«ﬁﬁgo chrdair So €60 |Ea Sgrs DSodo Dodhonr Frartdoh?

Options :

Trimethylamine oxide

1B 7S sBn s56

T

1. ¢

Ammonia

Uric acid

i8S eio

Ornithine

s &o
4. %

Question Number : 64 Question Id : 4387198064 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The neural mechanism inveolved m passing out urine 1s
S EDBES BBk & B Thdkro8%s

o . i
Options :
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Relaxation of striated muscles of urinary bladder.

sor@rdah Tde Boltre Eé%av:'-o

Contraction of urethral sphincter

[‘_cf:'ﬁaé Jo388 Hasiso

Micturition reflex

%3

LEES (85

ol

Contraction of striated muscles urinary bladder

Srlgdah oy Soory Hosibo

Question Number : 65 Question Id : 4387198065 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is known 1s Dobie’s Line?

Bt &S 302 &9 AS sotr 7

Options :
M - Line

_ M- A
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Z - Line

Z- (&

A - Line

A- (s

H - Line

H- /g

Question Number : 66 Question Id : 4387198066 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Match the following based on their function

A Cerebellum

1. Centre for sensory & motor signals

B. Superior colliculi 2. Vision

C. Intferior colliculi

D. Thalamus

4. Auditory

Ngue eptborr |Sobh TN 2ddddod

A ol Shfo
B. &y 2059

C. a8 0%

D. presih
Options :
-

1.JA3. B2

Al, B2
2. &

A4, B3
3. %
. x A3, Bl

C4,

C4,

D4

D1

Dl

3. Gyroscope of the body

Question Number : 67 Question Id : 4387198067 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Steroid hormones are the derivatives of

toronk HEhke 28 ad S w?

=2 (i s
Options :

Amino acids

@EEE-{ R0

1. ®

Cholesterol

LS

Carbohydrates

=HTES

Glycogen

m

hE=
4. %

Question Number : 68 Question Id : 4387198068 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Abnormal growth of the bones especially of the tace bones leads to
DSt erTdn DRitds %8 RRFHOTT RRPo &0 Sfnde HHhde 08 o8 eﬁ‘r’ﬁ___}a&-‘?

Options :
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l.

\'_f-"'?

Acromegaly

=S Rmrd

Cushing’'s syndrome

Es ==
oh Dhol&Ss

Dwarfism

sStberdiio

Goiter

mrowdss

Question Number : 69 Question Id : 4387198069 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0
Differentiation of the cells of the immune system is due to

5% 2E8sE PRI & gere DETR8 T8eo

Options :

l.

\'_f-"'?

Interleukins

sotbur S
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Interferons

Stel Mo el

Cytokinins

s c'Bgm -
ol ngﬁu

Immunoglobulins

sy gD Se

;
)

Question Number : 70 Question Id : 4387198070 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Epithelial tissue layers of the body parts are known to produce

2?

£n

208 grre aB8Y Sereroo Hol Mhde edgd §

Options :

Lysosomes

1. ®

Antimicrobial proteins

Rl S 808 @P0%
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Phagocytes

T —cells

4% T - Beeen

Question Number : 71 Question Id : 4387198071 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Colostrum has abundant antibodies of type

Sulhared® efdonr Hod [Padsten UD?
Options :

v l2ga

Question Number : 72 Question Id : 4387198072 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which of the following is known as white body?

& o0& T°2¢5° B B S0ty SEFVO T RVDEICDSIE?

Options :
Corpus luteum

s‘d:ji:u enioiodo
1. %

Pituttary gland

ST God
2. %

Corpus albicans
5030 659 50y

3. ¢

Pineal gland
S o

Question Number : 73 Question Id : 4387198073 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Human placenta 1s not of the following type

SRV 2TOIVD) & S0l BSo D

Options :
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Chorioallantoic

9P GTTO5

Discoidal

wETH

Haemochorial

rargaoie

Non-deciduate

oD ﬁhm?5®5
4. &

Question Number : 74 Question Id : 4387198074 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

GIFT stands for

GIFT e

Options :

Gametogenesis mn fallopian tube

TS’ Do TFeeS Dasrry 2550
1. ®
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Gene in fallopian tube

T DD TTes” 207 SEa
2. %

Gamete intra fallopian transfer

2550509 TWo oSG VoD 6O
3.

Gamete mtra follicular transter

HOE S° Dz € 226D

4, %

Question Number : 75 Question Id : 4387198075 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The term genetics was coined by

2] TRo D DO DD DATBoTE?
Options :
Gregor Mendel

00 2oe&ed
1. %

T.H Morgan

T:H; :nr?.'%
2. %
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W. Bateson

W. 5&35
3.9

W. Johansen

W. &35\
4. %

Question Number : 76 Question Id : 4387198076 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is incorrect?
& 308 T35 20 5= H?

Options :

Colour blindness is an example of multiple allelism

;ﬁg‘*ocﬁ@&o Arerbl- ainrié QSE.J;]E"E.J.":‘O =S nprtile]>

Multiple alleles cannot be observed in the genotype of diploid mdividual

2.8 D[S CIWS), BLOIBE 2R CFDee” LY Q3] DS (ADOeBEY

Multiple alleles can be observed in the genotype of a population

28 8 e 230§ GrD0e” eIiTOv o306, DELTR (520oTILICOR
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Multiple alleles are represented by the mheritance of blood groups

. G DBV OITL B0 TSH 21I0% cidoey 3)69.:35“9_}53 Slnprerlehr
4. -

Question Number : 77 Question Id : 4387198077 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Scientific name of Rhesus monkey

b

622 8 g, TRAH ToH03W
Options :
Macaca fascicularis

205°E émfaéaéwﬁia

Macaca radiata

O5°S BC.OIrer
2. %

Macaca mulatta

o | ;&nw%}r

Macaca fuscata

2058 ::}fazje.}
4, %
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Question Number : 78 Question Id : 4387198078 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is correct?
Sod T°3e5° 2B L0VIA DE?

Options :
Phenylketonuria is an autosomal dominant disorder

RS SE'RSBOIT 28 RS LIPS VDVIS

Color blindness 1s a sex linked dominant disorder

S50 @030 s Doff DIFOM) L1TES VDD
e 3 u

Thalassemia 1s an autosomal recessive disorder

. GODACIT 8 e5¢5°H 205 0S5 DRI
3' -

Cystic fibrosis 1s an autosomal donunant disorder

i

RS DEIDD 2,8 E5E 208 LGS WDV

Question Number : 79 Question Id : 4387198079 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

First clinical gene therapy was done for the following enzvme deficiency
06 D DoBI &' S0 G IS 2] D3y 20AE?
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Options :
Glucocerbrosidase

(A& 00e DES

Acid maltase

CrBE ArSS

Adenosine deaminase

WAIDD & DS

Carbonic anhydrase

56,08 05 s

Question Number : 80 Question Id : 4387198080 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is correct?

&1 808 T°2¢5° 20 200 AT
Options :

33 . EE .
P 15 a tumor Suppressor gene and P 15 an oncogene

P 08 5838 3D B[  Sodosw P e S°(R0\0 5708 20D
1. % -

71142



7/12/22, 3:54 PM

EE .
P 15 an oncogelic

RB o
P 08 ws 5°(00 S°0S 2/

2. #

P> and P*® both are tumor suppressor genes

P> 208030 P Bocr 575046 DFGE asvgnen
3.¢

P and P*® both are O1COZENEs

P> 2080300 P** Botr 575046 5768 2050
4, %
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Question Number : 81 Question Id : 4387198081 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the dimension of (Angle X Force X Length) is M™ L™T™ then the value of

(1. 1. 013) 18
(St30 X wwo X Fay) cing), D& M™ LT 02008 (5. ny. n3) Dewd

Options :
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| A0

I

i
-2
T

2.v 12

s

. n (G22)

Question Number : 82 Question Id : 4387198082 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The velocity of a particle is only a function of its position v(x)= ¢ ™. The position of
the particle at time t =0 1s x = 0. The displacement of the particle varies with time as
08 SmAL W), 6w, V(x) = T . oD gﬂaﬁggaéam clng), 2IoDDW.

STOB0 t 20 DG x=0. BANS &7 FrDFoBIW, SOADS & Dol ST,

Options :

t
1.%9

(1-t)
e
2. %

3 % In (t)

4 In (1+t)
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A ball is thrown horizontally at a speed of 20 m s™'. from a height of 20 m above the

ground. The magnitude of its velocity as it strikes the ground 1s
(Acceleration due to gravity = 10 m 52)
Fr PO 20 m DB Aol 8 L0 £S2 DATSGT 20 ms” HE & DBdT.

ey SRR g APetlont el =3 Folals) aBE) DHBaTr0,

(MoGoss Seoeadn =10ms™)
Options :

= -
L@ 283ms

=3
) % 20m s

: -1
% 40m s

1
32.6ms
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Two buses of length 60 feet and 40 feet are moving parallel towards each other at a
speed 15 feet/s and 10 feet/s respectively. Time taken to pass each other is

TEHew 60 ft H8cdv 40 ft o Botd BN 28 TASED  AOTECTT,
DIToBGorT ST 15 feet/s 080w 10 feet/s dcowd DOITEIROT) 0N, 8D
WEETFATES e DED SPVo

Options :
i
5

5
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A constant horizontal force of 100 N 1s exerted on a 50 kg box that 1s iitially at rest.
When the box has moved a distance of 2 m. its speed 2 m s”. The coefficient of
kinetic friction between the box and the floor is

(Acceleration due to gravity = 10 m 5'3)
Sed Do DB S° &d) 50 kg @SB 28 DY »
RAToB0 Bwe PDETHotieitod. s 28 2m &rde s&&}a:abc:a = Do 2ms”

00D DY Jv SUrv Q0G0 (BS Doge MBS DD

(MoBo8g Bt =10 m s™)

Options :

1.¢ 0

, % 0.2

L % 025

4 % 0.18

100 N 26200 $9%
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A hot air balloon is descending with a constant acceleration of 2 m s™. The mass of
the balloon and its contents is 600 kg. Assuming the volume of balloon is kept
constant the mass of the balloon required so that the balloon starts ascending with the
same acceleration.

(Acceleration due to gravity = 10 m s™)

26 B0 2 ms? & w8 & ) TUrd $o83 AW . & Turd Ado
@é;:::“% 600 kg. &5 Surd D00 D0Sr0 f;'gt:sorw €0l VA8V, Yol B(CRAN &
D8 T'HWLD &3 HUTrD 80 GoEIVID GI[0°3

(Roceq S =10 m ™)

Options :
| o 400kg

) 200kg

.« 100kg

4 % S00kg
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A ball of mass 1 kg 1s thrown from the top of a tower at t = 0 with an initial velocity
V= [10 i+20 _]} m s . The change in potential energy of the ball between t = 0 and
t =5 5. while still freely falling 1s

(Acceleration due to gravity = 10 m s™)

g0 Ao §=[1Ujﬁ;+2ﬁ}] m s &1 kg (55008 o 0080 o8 4xdo 2ot = 0

Sdabo S DWETW. © wod Sudo & e
& doo

Spd, t=0 Dedw t=5s o D5 owod §Be:d8
(oo BB = 10 m )
Options :

| w -1507
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A car of mass 1800 kg travelling north at 30 km h™' turns east and accelerates to
40 kmh™. The magnitude of the change in 1fs momentum in kg m s is
&%5o°8 1800 kg o % 30 kmh™ & addo 36 - drtp 564 40 km h'% S8dgdo
wonsh. wond TR [EE Sosresnd® Sty kgms' off
Options :

L% 5000

, » 25000

3 % 10000

4 % 20000
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Point masses 2 kg. 3 kg. 4 kg and 5 kg are lying at the points (-1.-1. 0). (3. 0. 0).
(0. 0. 1) and (0. 4. 0) respectively. The moment of inertia of this system about y-axis
will be in kg m™

Dot (Sorden 2 kg, 3 kg, 4 kg H8amw 5 kg e S@dme (-1.-1. 0). (3. 0. 0). (0. 0, 1),
Heai (0. 4. 0) Dothide 55 afD. & 553 =g oo ¥ - egsn dsor kg m™? o
Options :

e 113

, % 109
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3
3.¢ 3

4 x 86
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A solid circular disc of mass 100 kg rolls along a horizontal floor so that center of
mass of the disc has a speed of 0.2 m s™L. The absolute value of work done on the disc
to stop 1t 1s

E5gord 100 kg e 2.8 508 50508 2¢) g8 Sirods Swo D 0 (¥ doigss 0.2 m s

83353

o2
g3

=g 5Oh r.aoéé.:&;.}; E@;é&sﬁ{;&. 2 éﬁéﬁ: i Traohd sdoons B0

Options :
L% 2J

. oM |

3. %

417
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A mass is attached to a vertically suspended spring and released. If it falls through
100 cm and comes back to initial position executing simple harmonic motion. then
its time period is

(Acceleration due to gravity =10 m -3'2}
DLW ITEROVLED 28 Dol 8 wE @O 38000) 56T, b
ROV OB € wde GO 100 cm $0B8 DY 38H S FTIE BOR T BIGRD

ST

(cosg B = 10 m s2)
Options :

% T

.
2. ® R
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A music system playing a loud music is kept on a table. If a glass of water 1s kept on
the same table. the glass vibrates and generates ripples in the water. This is due to a
property known as

a8 g & Aism Sohevy af)g Tn ool SOSTPR) GoTE. oh ny 8 W8S Ko m

(g

B0, wb Sobiol Hodkk J8&° 08 wow e, 83 FEnse
Options :

Reflection of the sound

GS(R DTDEDe

Refraction of the sound

& SEBIJ0

Reverberation of the sound

AT E00

Eesonance of the sound

r:.::gf) LRI Go
4.4 =
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A satellite 1s revolving mn a circular orbit around the earth with a speed of 8.4 km g7
. : 5 c 2 o

at a height where the acceleration due to gravity i1s 8.4 m s~. The height of the

satellite from the Earth’s surface is

[ Radius of the Earth = 6400 km]

8.4 m 5™ oty Sxmo Ko A& 3 do ol HTws 556° of adifo 8.4km s 388 gt
Dbr HoFol L. ¢radldoo Fol adiiidro TR J&

[samgrdo = 6400 km]
Options :

| ® 1000 km

1400 km

3 2000 km

4 % 2400 km
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A metal cube has an edge length 0.1 m. The bulk modulus of the metal 1s

1.4 X 10" N m™. When subjected to hydraulic pressure. the volume contraction of
the cube is 5 X 107 cm®. The applied pressure is

28 §°37) oo CINE), Wordd T 0.1 m. S35 oS Meeso
14 X 10" Nm”. zed8 H&ordd 18 Sobco 08, Lode TS, 208 HBITE0
5°D) 2080 5 X 107 e’ HABTAoHEIED DEDo

Options :
" ]
L& 2 X 10" Pa

1.4 % 10" Pa

&
3 ¢ 7% 10" Pa

z ]
L% 5 X 10 Pa
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An object hangs from a spring balance. The balance shows 40 N when the object is
m air. 30 N when the object 1s immersed in water. and 34 N when the object is
immersed in another liquid. If the density of water is 1000 kg m™. then the density of
liquud 1s

(Acceleration due to gravity =10 m s™)

pE D)oh TR Aol wE WY DTN B. TRV Ocord DAY MmO’
ER0) D 40 N, R0 D" B0eDDNE 30 N 20800 S0 DB B0’
S0eRANE 34 N 8doren QDo 8. DO Fodd 1000 kg m. wand Gdo

aIE), Fro@e

(Aodoess #cBeo =10 m s™)
Options :

3
| % 500 kg m

, x 800kg m”

3 % 750 kg m™

3
4 600 kg m
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Principles of molecular interactions and thermal energy can be used to explain

(I) Vapour Pressure
(1) Surface Tension
(IIT)  Viscosity

VEDVHY 0G| LT 20BN &NFS DI0eBID)
(D) 6o
(IT) SOBHS

(ID) ) g
Options :

(I) and (II) only

() 20805 (II) S
1. %

(II) and (IIT) only
(I1) 2080 (III) Ar-dRo

2. 8

(I} and (III) only

(I) S8t (II1) Sr-dd
3. %

(D. (II) and (IIT)
(I). (II) B0 (III)
4.¢
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Question Number : 97 Question Id : 4387198097 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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A steel rod of length 5 m and radius 2 cm kept at room temperature is heated to 10 °C
above the room temperature. Then the change in the cross-sectional area of the rod.

(coefficient of linear expansion of steel = 10 x 107° °C”
gl agﬁg_e:s 3¢ fw Sm TGSy Sudodw 2 cm D‘éﬁ“go &0y w8 &L, sé D, 6G&
&GS S0t 10 °C D) D DA BAV, & 6 AG{HNG PTOER0S° 6.

(s3], B9 78 veago

Options :

| 0.01 %

0.02 %
2.¥

0.09 %

10 1075 =1
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A Camot’s engine 1s working between a source at constant temperature T; and a sink

T .1 :
at constant temperature T, has efficiency is 5 Upon decreasing the temperature of
: . 1
sink by 50 °C. the efficiency becomes e Then the values of T; and T are

Ed agﬁ;jej T1 26 &) %g‘éaijo Foblelovt) %‘:d agﬁ;j@ T2 59 &y F3erBado 20635

D Do) 570 adbodo BLS %. FBerBodo B0S), agﬁg@m 50 °C SRod

1 5
23 olvodo B - 2008, vod T Dbk T Jenden

Options :

-~ T=127T"E 'T=T7"C
Ti=400°C, T2=315°C

2. %

- Ti—2E3"E, '"E21TE

L% Ty=3000 T
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A Carnot engine operating between 430 K and 330 K does a work 60 kI. The
amount of ice. that can melt from 1ts exhaust 1s

(Latent heat of fusion of ice=330T g")

28 56 aogan 430 K 20805 330 K 206§ 2 Sosowd 60 kI 0 3238, e
OGN DRVPLD &NAN SV SdHew B3O8 Sootd
(200td CB0E), LOABID WTHSw = 3307 gl )

Options :
L 0.6 kg
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If the volume of a gas 1s reduced to half then the change in its mean free path is
20E TPOB0D) DADOAT eI A RMTAS ej:;:cri}:: P DTy DB SSlAIPSRNIV
Options :
Becomes half

L@ e tehlablwb)
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Unchanged

bebaleln%

Doubles

Eﬁgai}mm

Depend on temperature

&6 P BTTEDE™
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The equation for a wave travelling in x-direction along a string 1s

y = (7 em) sin [(w em™) x — (100 ns™) 1]. The maximum velocity of a particle of the
string 1s

28 86 A0S, x- Vo Dol HAHEHIVIY WS Bbor PG

y=(7 em) sin [(mem™) x — (100 ws ) t] &K a3ng), WS Sere AIE), (0 ot

Options :

- -1
| % ST CINL S

|
*7
2Z2m s
2.¢
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3
3 % 1l ms

4 % 100 mem s
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To produce dispersion without deviation, a thin prism of angle 15° made of glass of
refractive index 1.45 1s combined with another prism made of glass of refractive
mdex 1.75. The two prisms are arranged such that the refracting angles are in
opposite direction. The angle of second prism is

QLN Tl DEDR0 AP Goddew, 1.45 DEBID e KL TS
wDoderca 15° DLS o (o 28 mln PLSA0 175 SEBDD Ao (L WE
s Sobadd 28CNE HOSE $DIW. Totd DUV T VLS (HSBH)
Seren A0S 3" GotddeD BT . Teksd DS dIE), HES Sto.
Options :

L x 10°

i2°

-

2. %
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Question Number : 103 Question Id : 4387198103 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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In Young’s double shit experiment. the ratio of the intensities of the dark and bright
fringes 1s 16:36. The ratio of the amplitudes of the two light waves 1s

a30f 2oty WS HATEC’, Q{B.TD Hobain jdaD ﬁﬁéa} o GOS0
Kjﬁ’q;}e;_? 16:36. Dot S0 dolmer SodA DB :J‘?Qge;?.
Options :

3:2

1. %

36:16
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Three charges 1C. 2C and 3C are placed at points (1. 0. 0). (0. 2. 0) and (0. 0. 3)
respectively. The distances are measured in metre along the three axes. the
magnitude of the electric field at the origin 1s

1C. 2C Jo8cin 3C esdF e e Do Qméwé?um Savrr (1. 0. 0). (0. 2. 0)
2080 (0. 0. 3) DoV S Sotrd. 3 BT Dowd ArTrLR LGS Ederd.

207w Dotd) O 3::335& £ DHdSTe0

Options :
Cm?
24ne,
1.¢
b Cm>
24ne,
2.
49 5
Cm"™
% 144ne,
25 3
Cm
144ne,
4.
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A rectangular coil of length 2 cm and width 1.25 em with 250 turns carries a current
of 55 pA and subjected to a magnetic field of strength 0.64 T. Work done for rotating
the coil by 180° against the torque is

2em TESD, 1.25cm ety udodn 250 toew SOAD WS &Y BBBTSC S w08
e5° 55 pA DS DT, & 30 R 0.64 T 890 SDAD oI 08 S0
e5° D8, 20 PSS S183SorT &5 totw 1807 SO DS 2800 DI

Options :

% 2.2 yj

) 35 y]

3 ¥ 4.4 pj

4 % 5.5 ]
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The work done in assembling three charged particles A. B and C of charges
Qa= 2x107 C. Qg=3%107C and Q. = 4%107 C respectively at the vertices of an
equilateral triangle of side length 10 cm

[

1

4ﬂ80

=9 x10° Nm'C™]

A. B 208050 C 0980 807 €manen $6dme 2x107° C, 3x107° C S0dadn 4x107
C esd350 <98 &) D. O 10 cm 0230 ¢dAD DIvETITO BZo %’g;ﬁ:oe.: =T
Eﬂeﬁ.'}d‘:j&}“.ﬁé 2805 DD

1

4HEU

[ =9 x 10° Nm’C7]

Options :
1261

1. ®

, % 1807
v 2347

162 7T
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Current density in a cvlindrical wire of radius R varies with radial distance as

B(r+r,)?. The current through the section of the wire shown in the figure.

(B is a constant)

T§FGo R (o) 28 256 866" DS DT ot TjE B dods’ B(r+r,)?
T AE0R). 900 Dot BT erteds DES DT Dewd

(B 208 fgﬂ“ogm:))

1. ¢
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mB[R* r2R® r,R3

, 2|2
3. %

nf [rs

2|4
4, %
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A 10 Q resistor takes a cuwrent of 5 A. The thermal energy developed in 40 s 1s

10 0 DTG0 (ot 5 A DAS DT 40 5 Tre DT DO\ &R 28

Options :
5 kJ

1. %

10 kJ

Question Number : 109 Question Id : 4387198109 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

+I‘§,—+ZI‘D .
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A current of 5A exists in a square loop of side length 5 cm. The magnitude of
magnetic field at the centre of the square loop 1s approximately.

5 cm oAV o DAETTC wrd & SA DEAS DITEFID &I VOB &
WAIGTSC WD Sodo I WADI 08 Edo WIo- AT
Options :

| x 38mT

5 % 1.7mT

3 % 48 mT

2.3
. mT

Question Number : 110 Question Id : 4387198110 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

98/142



7/12/22, 3:54 PM

Two long and parallel straight wires A and B carrying current 5 A each in same
direction. If the force on a 5 cm section of wire B is 5% 10°N. then the separation
between two wires is

(1g=41x 107 SI unit)

ot TEDD DATBS Srfen A 08031 B e 5 A DANS DT 28 &3S
$dh &0 D. B 303G 5 cm S8 HDABoIL wwo 5X10°N @00 & Godd S
:.13@5 &5 Co.

(Mo=4TXx 107 SI HATL20)
Options :
| % 25cm

N

cInl

7.5ecm

10 cm
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Statement A : Magnetic monopoles do not exist and therefore the magnetic field
lines form closed loops.

Statement B : A bar magnet makes an angle of 30° with a uniform magnetic field.

If the maximum torque experienced by the magnet 1s

3.464 x 107 Nm. the potential energy of the system is 3 X 107 ],

Statement C : Superconductor 1s a perfect ferromagnetic material.

DODH0 A i- 00T o DE )T GoGR). WDV WO od £ 10 Baden
RodS DVOIFLAD DG\EWI"OW.

DOBD0 B :- 00T 02 EGod 30° Erao BSOSV 28 BoEaiF) 0Ty
EoDT°G). & (oGO 0d0 P DY BB (AK Erdy), 3.464 X 10° Nm
©aD €8 DI oBo CIVE), DS 3§ 3 X 107 T,

DODD0 C - 098 TIPSA0 WS G0, Folo e&odaﬁf“aToej ::-m“g;ﬁao.
Options :

A, B. and C are true

A. B 20bcin C Eﬂﬁlm I-i‘:-@é&hb
1. ®

A, and B are true. C i1s false

A 206ciw B Foe:gém}, & w“«:@gm
2.
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A and C are true. B is false

A, Sobaoiw C e "a:ejéam, B e::"n:e:ﬁénm

A, B. and C are false

A B Sodosw C, E‘:J-:);LQ‘.iJJ e:r‘&:efeé;ﬁaa
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A circular loop of area 0.04 m’ is rotating in a uniform magnetic field 0of 0.4 T. The
loop rotates about its diameter which i1s perpendicular to the magnetic field. The
magnetic flux through the loop when the plane of the coil is normal to the field and
when it is making 30° with the field are respectively (in Wb)

D7ele 0.04m° 6L JTTE Wiy D6 WL 0B E80 0.4 T &, oI o8
ETIS okl &) G TRo DT BlEe BOLWIN)B. LY Svo. £&
QFLOVCLIOTT &D)INHE B £G 6% & 30° S'mo SR DY wr) o
DDTFRODY DTIPH HERM (Wb ee5°)

AT
—

k4

¥

L 2

N

1.6 x 1072, 0.8 x 107
1. %

3 3,
5 1.6 x 107, 1.386 X 10

; % 0.0.8x107
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1.386 X 102. 0
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Consider a series LCR circuit commected to an AC source. The resistance. inductive

reactance and capacitive reactance of this circuit are R. X1 and Xc respectively. If the
current in this circuit lags the source voltage then the correct option is

28 AC 255708 sendedd LCR 388 Howodbesdd” JBGH0, 2088 28060,
S0B05L L84 DAL B0 DA™ R. Xy dadn Xe. H00508°D DS, 2D
SR S8l DS Goll, S0 TES” DOELIA.

Options :

e Re< X

) ® X > Xt
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; 2 - g :
Light with an energy flux of 20 W cm™ falls on a non-reflecting surface at normal

. . T y
incidence. If the surface has an area of 25 cm”. then the total momentum delivered
tor complete absorption during a 15 minute time span 1s

RIDTD0S Swo D woklom 20 W cm’ 38 Fod (L Tod DD QPBO &.
&5 dvo DTV 25 em’. e 15 Adodre DjO6S" P Fhee & 06 ond
D0Go DD DADW.

Options :

Fiy 1
% 1 x 107 kgms

, % 1.8 x 107 kgm s

-3 -
2% 10° kem s
3. % =

L 1.5 x 10° kg m s
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The spatial component of the wavefunction of a wave is given by

W= A [ sin (ax) cos (bx) + cos (ax) s (bx)] then the wavelength of the wave is

28 SGo(0 WS) SCoHDO0H ©odTG 9oBIW

W= A [ sin (ax) cos (bx) + cos (ax) sin (bx)] & ArDeRD, &° Sdof B0
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Options :

Question Number : 116 Question Id : 4387198116 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Radiations of two photons having energy thrice and nine times the work function of a
metal are incident on the metal surface successively. The ratio of maximum
velocities of photo electrons emitted in two cases are

28 &°3 DA PD0CErIS 3 T B0 9 BEL S (L Tokd D365 el &5 &L
S00z) DBAZVOVDD. WOV &IFCo YAND 570 JVTP AR DT A S.

Options :

| % 123

2. % 1:43

-4
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4&,1:2

Question Number : 117 Question Id : 4387198117 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A hydrogen atom is excited to level n where its potential energy is found to be
—1.088 eV. The magnitude of n is

202388 —1.088 eV 508D Frow n £ w8 TERS DOITTD edRGo DD,

N Se0S

Options :

L& 3

Question Number : 118 Question Id : 4387198118 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The correct option from the following statements
Sod DIVT V" PBADIS
Options :
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Binding energy per nucleon is higher for heavy nuclei (A > 170)

&0 So@35"LS (A > 170) 28 AT LoGIFS ) D.

Binding energy per nucleon 1s lower for light nuclei (A < 30)

v 26 Sodseen (A < 30) 28 arééo:iré 2oBRFS B,
2. - -

The binding energy per nucleon in the range 30 < A < 170 of mass number (A) 1s
nearly constant since nuclear force is strong and long ranged.

GJT°? Doy (A) 30 < A < 170 J’éigeﬁ" mﬁm& LI0GDIS T fgt&;ﬁ.&:}

S°Gtso SodS Lo VRS T SV V0L LODIE.

3. %
Binding energy per nucleon is higher for both light nuclei (A < 30) and heavy nuclet
(A = 170)
26 Socio (A > 170) SoBoid 8D Z6@S0 (A < 30) © Bodots, ArjEairS
eIoG3D3S 9Hso0.

4. % F

Question Number : 119 Question Id : 4387198119 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Consider a transistor amplifier m common emitter configuration. If the current
amplification factor. collector resistance and base resistance are mcreased by 1%. 2%
and 1% respectively. then the change in the voltage gain 1s

ws &) G &0°0 7026 g, i}cﬁo}gé 6 Messo, 2HEBe DB o JobBoin eses
DO SWRM 1%, 2% 208051 1% oD, SFe 5B Doy
Options :

Lk 1%

0.
2 \;‘4‘; 2 ]

3% 3%

L x 4%

Question Number : 120 Question Id : 4387198120 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The frequency band for downlink satellite communication in the following is
THOE oo &0 Dos il“é:‘t‘.aé& 958 So& T°S°

Options :

L 37— 42 GHz

, x 59— 6.4GHz

3 % 54 — 72 MHz
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4 % 88 — 108 MHz

Chemistry
Section Id : 438719169
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 121 Question Id : 4387198121 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The maximmum number spectral lines formed when an excited electron of a hydrogen
atom i1 n= 5 drops to lower states is

TERD DoAraLY O adad JUED n= 5 gocm 200) $ob DBV BBIYE

DByE DD Fw DG oy

Options :
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Question Number : 122 Question Id : 4387198122 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The radius of the third orbit of He™ is f!_’ A . The radius of second orbit of Li’"

(1n 04 )

e

He™ 207cd 885 TG0 ¥ A . LiT & Boid €55 T30 (4 exs°)

Options :

Question Number : 123 Question Id : 4387198123 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which paiwr of elements have same electronegativity values in Pauling scale?

T Dofi 2),e08" §obd D210 PV VL augﬁﬁéﬁa DenHen DATDTT EotTan?
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Options :
S and N
| % S&0Bainv N

Cl and S
Cl S08ocs S

2. %

Pand H
3« P ooboinw H

CI and O
4 % CI 20Boin O

Question Number : 124 Question Id : 4387198124 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Match the following

List — 1 List IT
(Element) (Aeg H (electron gain enthalpy, kJ mﬂl'lj}
I) Chlorine a) -295
II) Bromine b) -328
III) Fluorine c) -349
IV) Iodine d) -325

Sofd T 2HHETLSAL

Do — 1 erdor — 11

(SoreEo) (A H (aagnfa iy oGy, kJ mol ™))
1) §85 a) -295

ID) e5° S b) -328

I 985 c) -349

IV) o@BrEdd d) -325

Options :

| % (D-b.(ID)—c. (1) —a. (IV) - d

(I) -b. (IT) — a. (IIT) —c., (IV) - d

2. &
;v O—<. () —d. (ID-b.(IV)-a

4 % (D— (M—a () —d. (IV) - b
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Question Number : 125 Question Id : 4387198125 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which of the following conversions decrease in bond order is observed?

Sod @ DOIGIVY” 306 S0 MGV (30Jotd DT80\ 07?

() 0, — 03

(1) 0, — 0%~
(I ¢, — Cg_
(IV) N, = N

Options :
I & IT only
[ &1II S-ado

IT & III only
5 % IT & IIT Soeghdo
II & IV only
II& IV arado
3.¢ -

I &IV only

n L&TV Sredo

Question Number : 126 Question Id : 4387198126 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Identify the pair of molecules / ions in which hybridisation of central atom is same,
while their geometries are different.

So@s DODUTEAY) RS0 2,8 GSorT &odt. D) BBV SHA &Y LYW

/ 903D 20fIA (BetiHdW.

Options :
| v BF:.80;

) % XeF,. Be(Cls

3 % XEF4. S].:4

4. % CngilTHﬂ;

Question Number : 127 Question Id : 4387198127 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The plot of V(L) vs t (°C) is shown for
an ideal gas. If molecular weight of the
gas 1s 16, how many grams of the gas 1s

used for the experiment? (P = 1 atm) - S
F{L) e

WS GG, arcdwpsy V(L) vs t (°C) © _f_f_,,-f"

T RIECoH. T°a30 erwerde 16 - - NI, .

0B, POITGES” D) gV TOLVYA

O Ao dd? (P= 1 atm) 1 - L4
! o 30 100
()
Options :

=
1.+ 3.2

L % 40
8.0

3. %

16.0

Question Number : 128 Question Id : 4387198128 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Match the following
List-1

(Reactions)

+

H =
A KMnOy — Mn®
B iCOS = e

& Bl — Cr
D NH; - NO;

S0l TR 2T,

erd)ar-1

(£565)

HT "
A KMnO; — Mn™—

2 001 i - W o
¢ Eolnhy— O
D NH; —» NO;

Options :

1. ®

3.

List-1I
(Equivalent weights)
1) M/8
1) M/6
111) M/5
1v) M/2

>Hae-11

(Soergos 2°00)

i) M/8
i) M/6
i) M/5
iv) M/2

A — (iv): B- (iii); C — (ii): D- (i)
. A~ (iii): B- (iv): C = (1): D- (i)

_ A= (if0): B- (v): C - (i): D- (@)
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A —(11): B- (iv): C — (111): D- (1)

Question Number : 129 Question Id : 4387198129 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

At STP, 1.54 g of MnQO, reacted with excess HCl. What is the volume of Cl;
produced at STP? (At. wt: Mn=550. O=161)

STP ;5%3. 1.54 g © MnO,. e&s HCl & r.‘.’Jd?S Qofod. STP ;i)cg ﬁ)dﬁdé Cl;

DOADBAT R0 dodd? (D Mn=55u.0=16u)
Options :

L 0.396 L

0.224 L

2. %

0.336 L

3. %

~0.112L
4. %

Question Number : 130 Question Id : 4387198130 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the followings is not an extensive property?
$od TS B DI GO} 0 SQ?

Options :
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1. ®

4. ¢

Question Number : 131 Question Id : 4387198131 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Enthalpy
c;}mm'“ &J

Heat capacity
ﬁgmﬁﬁa

Volume

w  WADBIT R0

Temperature

oy e
£

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Cpofagasis 307] K mol ™. If the gas is heated to 348 K from 298 K at 1 atm. The
change in mternal energy of 1 mole of gas at constant volume 1s approximately

(R=28.3J K" mol™
28 T80 Cp Dend 30 TK™ mol”, ooty 298 K &ood 348 K € 1 atm 3¢
IR RISTL ) NAR :"';Lgd 202033070 HG 1 DS T8 eBdS B8 S 2oy TR
(R=8.3JTK" mol™")

Options :

1.

o
. 0.7 kJ mol
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, x 10.6kJ mol”

A 4
- 1.1 kJ mol

o % 8.3 kI mol™

Question Number : 132 Question Id : 4387198132 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

At 25°C pK, of CH:COOH 1s 4.76 and pK; of NHsOH 1s 4.75. The pH of 1 M CH;
COONHjy 1s found to be 7.005. What will be the pH of 2 M CH3;COONH, solution
at the same temperature?

25°C aﬁ%ﬁ‘ CH3;COOH odws); pKs Lensd 4.76 Hudodw NH,OH s, pRe Qe
4.75. 1 M CH3;COONH,; cdws) pH 7.005. (ol agga sﬁg 2 M CH;COONH,

GaTreas)) pH dod?
Options :

6.900
1. ®

) % 7.100

, % 6.995

4 7.005
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Question Number : 133 Question Id : 4387198133 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Assertion (A):- H>SO, acts as a base in the presence of perchloric acid .
Reason (R):- Ortho phosphoric acid 1s a weaker acid than H,S0y,.

[Assume equal concentration in all the cases]

DI B30 (A) 1 D6 EBS 3 D2E085° HyS0, T6erm DI S5o50m
560250 (R) : HaSO, So083 e:rg“ FJ\0S es:00 BT 83500

(€9 0£385” TR TG 89 RDE RHW)
Options :
Both A and R are correct and R is the correct explanation of A

| x A D00010 R Bocr 20G@OAD 20030 A CIE), 2OGHD D36w R.

Both A and R are wrong

5 % A 25080300 R Soder 280D 575,

A 1s wrong but R 1s correct

|« ARBIDLRIG 56 5D R 0BDB.

Both A and R are correct. but R is not the correct explanation of A.

4 o AB08030 R Socs DBEAD 208ak0 A CIE), DBE D56es R 56,

Question Number : 134 Question Id : 4387198134 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Identify the electron rich hydrides from the following

Sod Te” QUT'D QW VAL (L PG A WYL,

HEG BjH{; HF CH4 ZrH

I II III IV Vv

Options :
II & IV only

e D&IV2rg®

III & IV only
I & IV So°g o

IT & IIT only
II & IIT 200

I & III only

I & IIT Somehado
4. ¢

Question Number : 135 Question Id : 4387198135 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the carbonate which 1s thermally very stable?

OBS &R VOB R 570 1 DE5 A0 ot
Options :

| LiCO;
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Na,COs
o

2

5 % BeCO;

, % CaCO;

Question Number : 136 Question Id : 4387198136 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which pair of the following elements do not give flame test?

$08 @ 2 JTrOTTD P DOL AID?

Options :
Be.Ca

Ca. Ba

4, %

Question Number : 137 Question Id : 4387198137 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Assertion (A): AICI; becomes stable by forming a dimer.

Reason (R): The metal ‘Al’ cannot accept electrons from bridging chlorine atom

of the bridged molecule
DIydo (4) : AlCL &g esgorT ba:jd.eao S0 .’i’goejga A Tocdod.
506830 (R) : 3766 e9g30:)e5” euriodaie &S°P0 TPEH §8 HEATEWD) Aok
DOT"HR 2 SBoIE.
Options : B
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
| (A). (R) 20 Botor 28T, (A) 20 (R) ABADA D50

Both (A) and (R) are correct and (R) 1s not the correct explanation of (A)

5 % (A). (R) &0 Botir BN, 577 (A) £ (R) R8G0S QD08 5760

(A) 1s correct but (R) is mcorrect

v (A) RBCHAR. 5 (R) 2OALAS 570

(A)Is mcorrect but (R) 1s correct

(A) 2BAELAIB 5°4, 52 (R) DBTHHE

Question Number : 138 Question Id : 4387198138 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Identify the element that can exhibit negative oxidation states.

QeTS] & e.-régédm f&:eﬁaa}m 3{;555;,1:::3 SOFrLSo A doriodw.
Options :
v €

) % Ge

Sn

Pb

Question Number : 139 Question Id : 4387198139 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The IUPAC name of the following compound 1s

Sodd ;:a;aaymu ag) TUPAC oo
Cl

L/LjEc )

Br

Options :
1-Bromo-2-methvl-3-chlorocyclohex-2-ene

, -85 22035 -3-58 pErEy-2- &
1.

1-Bromo-3-chloro-2-methylcyclohex-2-ene
| —gf'ar—3-88-2- @S pEorsy—2 - &d

2. %
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3-Bromo-1-chloro-2-methylcyclohex-1-ene

3 ar—1-86-2-035 pETEy— 1 — &

3-Bromo-2-methyl-1-chlorocyclohex-1-ene

yox 38T -2 -pS -1 -5 286 -1 - &S

Question Number : 140 Question Id : 4387198140 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The total number of bromine atoms in the final product X' of the following
reactions is

(1) NaNH>/ Lig. NHa
(i) CH,l

(iii) Br/CCly

X

CH3-C=CH

o0& WE[LS” DBHE BB & D0 X' &S 2do e5° D DOATEVNHL Roay

(i) NaNHg/ (5. NH;
Al — }(
CR-C=CH —hcha >

(iii) Br,/CCl,

Options :

L ® 2
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Question Number : 141 Question Id : 4387198141 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the structure of A,B,. cations (A) occupy all the tetrahedral voids while anions (B)
form fec lattice, What 1s the ratio of x and y?

AB, D07 3:5008° SL0SR (A). BETTES Somu) o8 80ETT, R0IED

o (B) fee erosmdy i}:jﬁd.@“m. X &08030 ¥ & DS dodd?
Options :
1. % 31

, x 111

Question Number : 142 Question Id : 4387198142 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which of the following crystal lattice the angles are @ = § = y = 90°?

$od D \OS wresess e a # f # ¥ # 90° I oo ?

Options :
Orthorhombic
RIITIBIC0 2

1. &
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Triclhinic
) BT E

Tetragonal

5w WSO oD

Cubic
4. ® 20

Question Number : 143 Question Id : 4387198143 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statement is not correct for azeotropes?
D22 0007E) 8 DFIHTVL VozoBe) D& VOGR J=j] S°ew?

Options :
At the boiling point. the composition of a binary mixture is same as the composition
in vapour phase.

boblobleb &.gﬁ;je‘.‘s ;.‘)g. &5{“;&:‘?@&5 aLFDe Nelwtide. 2Ry Q‘é“gﬁ&:} RodoLdo 28

L% DEOTT EobtLodd.

Minimum boiling azeotrope shows positive deviation from Raoult’s Law.
£ 5%"’;_1@3 ¢ 2008 ABAED. §Y oo Aol BTEE VT

)y BTS00,

Maximum boiling azeotrope shows positive deviation from Raoult’s Law,
0 &S 3¢ 8h JROrED, FY JowHe Aed) FTEE Ty
3 WD,
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Nitric acid and H,O can form maximum boiling azeotrope
DS 50, D (181 LN HOD DRI E'D A DGO,

Question Number : 144 Question Id : 4387198144 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

At T (K) vapour pressures of H>O and CH3OH are 36 and 120 torr respectively. 72 g
of H-O and ‘x’ g of CH;0H when mixed, the resulting solution has a total vapour

pressure of 64 torr. The amount x (1n g) is
T (K) o6 HyO. CH3;0H o erayy TR0 SERM 36, 120 torr. T2 g HhoO o x g e
CH;OH 08 B8, 268 00 mrdee dwdo eriyy 2GS0 64 torr, LOND g

285" X Qodd?

Options :
2

L]

1. ®

5 % 36

3. 64

Question Number : 145 Question Id : 4387198145 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

128/142



7/12/22, 3:54 PM
£ i 2o S =xV
MnQ, /Mno, *
0 T
EMHO:;'MJ*IZ:‘_ v

What is the value of E°

_ <>
Mn0,” [Mn®*t *

esoD EC

o ?
Mnos~/Mn2* GG oJOEDT

Options :
3+ 2y
1. % 3

3k -+ 2¥
2.4 9

bx + 3y
3. % 2

3x + 5y
4, % 3

Question Number : 146 Question Id : 4387198146 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The correct relation to find out the half life a first order reaction 1s
(k = rate constant of reaction. [A], = Initial concentration of reactant)
DG §AT0s aﬁqge.'i" ITAS0HA TS) 0tT VS &DATHod DBALD Dotoco (k =

oy 86w Dorego. [A], = Sair 2880 TG0 TPES)

Options :
129/142
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In2

L k

(A,
, x 2k

« KlAlo

®
| o=

Question Number : 147 Question Id : 4387198147 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following statements is correct about chemisorptions?
B0 98 F 218208 DotioBod) Sod U“&B_J“]S?J@ﬁ DO VBIG?

Options :

It 1s reversible. favoured at high temperature

20 BYido, WA agﬁge:a S5 o) T T ot eCBI08.
1. ®

It 1s 1rreversible, favoured at high temperature

R0 Ao BAS &I (S DG J T o LS00
2. \_{-"’ £a |7 B
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It 1s wwreversible. favoured at low temperature

B8 &0, SL D ﬁgﬁﬁej =l T T aTotd LGB0
3. % ’

It 1s reversible, favoured at low temperature

% BE BYISo 383 S e[S 26 TT\irors ddood

Question Number : 148 Question Id : 4387198148 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following methods are used for the coagulation of Iyephobic colloidal
solutions?

I. Cooling
II Electrophoresis
ITII. mixing two oppositely charged sols

IV. Dialysis for short duration

o DEBOL T VAT DS SUrond oY R),06TmY) 20D SN ?
I 5000

I dTEITDD

II1. DB DT (10 Totd & VA SLDGo

IV, 2q05°08 cosrdd3

Options :

L% L H

131/142



7/12/22, 3:54 PM

5 II. 111

3 % I, IV

o x LIV

Question Number : 149 Question Id : 4387198149 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Assertion (A): Ammonia cannot exhibit hydrogen bonding in solid and liquid states.

Reason (R): Ammonia has higher melting and boiling points than predicted.

DAyBo (A) : 20D 20OOEL BD fgmegﬁ DAL PERD LTV B0,
52680 (R) : ©925J0ir @DBSD 00050 eranHdd FTV Devden &irodd oD
S 0‘5.7&'}_&5.

Options :
Both (A) and (R) are correct and (R) 1s the correct explanation of (A).

L (A) 208050 (R) o0 070000 208053 (A) © (R) 1o D1,

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A).
(A) 2u8a3w (R) &0 AT 57 (A) S (R) 2000 DH08 5°e.

(A) Is correct but (R) 1s incorrect.

. (A) 200008 53 (R) RIODE 6.
3.
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(A) Is incorrect but (R) is correct

4 (A) RDBOVAG 5760 57 (R) 20owA&.

Question Number : 150 Question Id : 4387198150 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The true statements pertaining to H,SO, among the following are
I High volatility I1. Acts as Reducing agent

I1I. Strong acidic character IV. Strong atfinity for water

Sof T°¢3e5° H,S0, 20 2081000 DT0WD SEEVIY P

L dg) 3 eriyy o II. $a$Be3T™ DD BRed

IT1. es0r@0 es2urdes0 IV. &S awdd udg
Options :

| BE

) L. IV

3 % LI

L% IL IV

Question Number : 151 Question Id : 4387198151 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The unstable halide of the following is

Sod T7eS" DOAT FGE AB?

Options :
VI

1I-'L"T]E;\I'g
™
s % VCh

4.v VE2

Question Number : 152 Question Id : 4387198152 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to crystal field theory. when ligands appreach the metal atom or 1on in an
octahedral field. the d orbitals that undergo mcrease in energy are

Os £ i::cg“oe:’éo 25°Co. NAVD TS0 TITol W0 B3  DOATEDR /9D

20 DADEDDDYE D d- e80Ty 8§ DAABCE?

Options :
dyy,d,2

1. ® £

dyz, d,

2. ®
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Hydrolysis of sucrose gives
2% moddheos® L8
Options :
Dextrorotatory glucose & Laevorotatory fructose

 ches KrE & des88 (358
1. - - N

Dextrorotatory fructose & Laevorotatory glucose

Saersys (5858 & syl st
2. % T =

Dextrorotatory glucose & Dextrorotatory fructose

J oy CEEEEE irs'E & sBersgs (58

Laevorotatory glucose & Laevorotatory fructose

, x TETSESHZES & - PTE
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Choose the correct statements

(a) DNA does not contain uracil

(b) RNA does not contain thyvmine
(c) RNA and DNA both have uracil
(d) RNA has both uracil and thynune

Do maﬁ’éa}aﬁ; wrFFod.
—_ 2 [ =

(a) cworks DNA & aotith.

(b) 328 RNA &* aodss.

(c) RNA 5:8c% DNA So&of¢® sioorhd acinod.

(d) coortd So8chn S Bots RNA &°aoiran,
Options :

a. b
1.

c.d

2. %
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For the given reaction which halogen requires addition of oxidizing agent to get
better yield?

'_,--’““‘\-. CH:}
[ J'f +X Fe Dark
. 2 .

[Bof wideds ﬁ‘ﬁéﬁ @b Bibad SPoltrld L Trdes © «8 5080 Swided aotnod?

CH, _
r T Fo 58

Options :
Cl»

L

1. ®
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Identify the product P

= ""Br (i) Mg/ Ether
| - - P
= (i) CdCly

[Baireiio ‘P’ & MhBool

“ Br (i) Mg/ g8
| __ - P
St (if) CdCls
Options :
CH>
)
2
1.¢
e
T
2. %
[-’f’“l Cl
3. % =

4. % s
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The major product (Y) formed in the following reaction sequence
ClI

(i) NaOH, 623K, 300 atm 3 (i) Conc. HySOy4 -

B
(i) H.O" (i) Conc. HNO3
3

Sod éc‘ggmeeﬁé 'S}{ﬁbﬁ TR :3_,033“3&5‘.}59 (Y) &7

Cl
(1) NaOH, 623K, 300 atm 3t (1) e HaS0,
F—
mms HNO
(i) HyO* Ulyore g
Options :
HO,S . ™ SO;H
e
1 B 5[}3H
O-N NO-,
0 NDQ
OH
HO,S NO-
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OH

O-N. f%,m}z

o ol
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Hexanedioic acid is used in the synthesis of which of the following?
S08 B S0Ircd BoWEeS” 78D GEowS LT &HATHID?
Options :

Food preservative

e5:3°C DTTrgo RDobLSe
1. % @
Vinegar
) % 2000

Polymer
;o TON6

Soap
"r\'.‘JE-JJa
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Identify P and R in the following reaction sequence
COOH

. NH5 /A Strong heating
| P — = G =
=
COOH
S0 dﬂ“égmoﬁﬁ:) P 208030 R 00 fodotded.
2P0 A o8 S35
| — P —_— Q -
=
COOH
Options :
O
- | N COONH, 5 j’r\i‘“[" x\
p— = NH
COONH, \
1. ¢ 0
COONH P
e 2 =3 (
P= || Q= | NH
P y
COONH
2. % z 0
COONH, . /COONH,
-
3 % COONH;,4 COONH,
COONH, COOH
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Identify the major product from the following reaction sequence

[\Jf"xBr (1) AgCN, Ethanol

F (i) H,O"
3
Sod r;ﬁr::“lq’gmoe.i D PR écdﬂ.a-aﬂéi}g OBotdod..

g () AGCN, 385°S

= (i) H,O*

Options :

|”’“‘ “SCcooH
. ® 2

| =77 "NH,
2. NF

S “OH
3.8 NF

|"“““‘~“j/\CDGH
4.8

142/142





